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sentence.

#5 2.aherd of lions
1_( 3. a pride of lions

?{ 4. a flock of lions

In the jungle, | saw a group of lions.

Ans 2(: 1. a school of lions

Q.1 Select the most appropriate segment to substitute the underlined segment of the given

Question ID : 8161612951
Status : Answered
Chosen Option : 3

INTEGRATE
Ans 2{ 1. Disappear

75 2. Divide
W 3. Unite

#5 4.Increase

Q.2 Select the most appropriate synonym of the given word.

Question ID : 8161612961
Status : Answered
Chosen Option: 3

Ans X" 1. Mitigation
X 2. Immigration
X 3. Navigation

J 4. Exodus

Q.3 Select the word which means the same as the group of words given.

A situation in which many people leave a place at the same time

Question ID : 8161612959
Status : Answered
Chosen Option : 2
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Q.4

Ans

In the given sentence identify the segment which contains the grammatical error.

The Commonwealth Games had a grand opening ceremony with spectacular cultural
performings.

x 1. a grand opening
J 2. cultural performings.
x 3. with spectacular

x 4. The Commonwealth Games had

T4

gradeup

Question ID : 8161612941
Status : Answered
Chosen Option : 2

Q.5
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Increasing levels of air pollution are (1) for higher incidence of respiratory diseases and
other illnesses. Various studies carried out in Delhi reflect the correlation between air
pollution and its (2) impacts.

To tackle the problem of air pollution, a number of measures have been taken in the past,
such as switching to (3) fuels, tightening vehicular emission limits, phasing out of old
vehicles and maintenance of in-use vehicles, closing or relocating (4) industries,
plantation activities etc. However, a lot more still needs to be done if the capital desires to

(5) clean air.

SubQuestion No : 5
Select the most appropriate option for blank number 1.

_J 1. responsible
2{ 2. responding

?{ 3. responsive

?{ 4. responsibility

Question ID : 8161612944
Status : Answered
Chosen Option : 1
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Increasing levels of air pollution are (1) for higher incidence of respiratory diseases and
other illnesses. Various studies carried out in Delhi reflect the correlation between air
pollution and its (2) impacts.

To tackle the problem of air pollution, a number of measures have been taken in the past,
such as switching to (3) fuels, tightening vehicular emission limits, phasing out of old
vehicles and maintenance of in-use vehicles, closing or relocating (4) industries,
plantation activities etc. However, a lot more still needs to be done if the capital desires to

(5) clean air.

SubQuestion No : 6
Q.6 Select the most appropriate option for blank number 2.

Ans 3 1 rough
?(: 2. long
of 3. health
?{ 4.illness

Question ID : 8161612945

Status : Answered

Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Increasing levels of air pollution are (1) for higher incidence of respiratory diseases and
other illnesses. Various studies carried out in Delhi reflect the correlation between air
pollution and its (2) impacts.

To tackle the problem of air pollution, a number of measures have been taken in the past,
such as switching to (3) fuels, tightening vehicular emission limits, phasing out of old
vehicles and maintenance of in-use vehicles, closing or relocating (4) industries,
plantation activities etc. However, a lot more still needs to be done if the capital desires to

(5) clean air.

SubQuestion No : 7
Q.7 Select the most appropriate option for blank number 3.

Ans J 1. cleaner
?{ 2. immaculate
?( 3. righteous

?{ 4. guiltless

Question ID : 8161612946

Status : Answered

l Chosen Option : 1
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Increasing levels of air pollution are (1) for higher incidence of respiratory diseases and
other illnesses. Various studies carried out in Delhi reflect the correlation between air
pollution and its (2) impacts.

To tackle the problem of air pollution, a number of measures have been taken in the past,
such as switching to (3) fuels, tightening vehicular emission limits, phasing out of old
vehicles and maintenance of in-use vehicles, closing or relocating (4) industries,
plantation activities etc. However, a lot more still needs to be done if the capital desires to

(5) clean air.

SubQuestion No : 8
Q.8 Select the most appropriate option for blank number 4.

Ans 3 1 pollute
?(: 2. pollution
2% 3. polluted
(4. polluting

$
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Question ID : 8161612947

Status : Answered

Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Increasing levels of air pollution are (1) for higher incidence of respiratory diseases and
other illnesses. Various studies carried out in Delhi reflect the correlation between air
pollution and its (2) impacts.

To tackle the problem of air pollution, a number of measures have been taken in the past,
such as switching to (3) fuels, tightening vehicular emission limits, phasing out of old
vehicles and maintenance of in-use vehicles, closing or relocating (4) industries,
plantation activities etc. However, a lot more still needs to be done if the capital desires to

(5) clean air.

SubQuestion No : 9
Q.9 Select the most appropriate option for blank number 5.
Ans 3 1 breathed

?{ 2. breathes
2% 3. breather

Q_f 4. breathe

Question ID : 8161612948

Status : Answered

Chosen Option : 4

Q.10 Select the wrongly spelt word.
Ans X 1. Attacked

J 2. Clearify

X 3. Provision

x 4. Promote

|
SSC CHSL 2020
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Q.11 Select the correct indirect form of the given sentence.

Roshan said to me, "Sandeep made a new year greeting card for his teacher".

Ans « 1. Roshan told me that Sandeep had made a new year greeting card for his teacher.

x 2. Sandeep made a new year greeting card for his teacher said Roshan.
X 3. Roshan was saying that Sandeep made a new year greeting card for his teacher.

x 4. Roshan said Sandeep had made a new year greeting card for his teacher.

T4
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Question ID : 8161612940
Status : Answered
Chosen Option : 1

Q.12 In the given sentence identify the segment which contains the grammatical error.

My domestic help was taking ill the day | had a party in my house.
Ans X" 1.in my house

\_f' 2. was taking ill
x 3. My domestic help

x 4. the day | had a party

Question ID : 8161612942
Status : Answered
Chosen Option : 2

Q.13 Select the most appropriate meaning of the given idiom.

Rub the wrong way
Ans X" 1. Rub well without oil

x 2. Please someone
K 3. Rub incorrectly

\f" 4. Annoy someone

Question ID : 8161612956
Status : Answered
Chosen Option : 4

Q.14 Select the wrongly spelt word.
Ans  of 1 Interfear

x 2. Selection

x 3. Acrimony
x 4. Electorate

Question ID : 8161612958
Status : Answered
Chosen Option: 1
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Q.15 Select the word which means the same as the group of words given. gradeup

To laugh at something in a cruel way
Ans « 1. Deride

x 2. Decide
X 3. Defy
x 4. Deprive

Question ID : 8161612960
Status : Marked For Review
Chosen Option : 1

Q.16 Select the correct passive form of the given sentence.

| use jaggery to sweeten my tea in winters.

Ans x 1. In winters jaggery was used by me to sweeten my tea.
x 2. Jaggery is being used by me to sweeten my tea in winters.
x 3. I have been using jaggery to sweeten my tea in winters.

\_f' 4. Jaggery is used by me to sweeten my tea in winters.

Question ID : 8161612939
Status : Answered
Chosen Option : 4

Q.17 Select the most appropriate word to fill in the blank in the given sentence.

The entered the house in disguise saying his uncle lived there and robbed the place.
Ans X" 1. technical

x 2. technique
K 3. technicality

\f" 4. technician

Question ID : 8161612963
Status : Answered
Chosen Option : 4

Q.18 Select the most appropriate ANTONYM of the given word.

INCITE
Ans \f 1. Restrain

x 2. Provoke

X 3. Appeal

x 4. Instigate

Question ID : 8161612954
Status : Answered
Chosen Option : 2

SSC CHSL 2020

A Comprehensive Course START FREE TRIAL
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Q.19 Given below are four jumbled sentences. Select the option that gives their correct order.

A. In India, forests are huge catchment areas for rivers and streams as they help in storing
water.

B. If these forests continue to be felled indiscriminately, rivers and streams will dry up
leading to drought.

C. Due to this many states are facing shortage of water in the summer months.

D. Unfortunately, these dense forest areas are disappearing.

Ans X 1.DCBA

/< 2.ABCD

/< 3.CADB
o 4 ADcB

$
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Question ID : 8161612950
Status : Answered

Chosen Option: 2

Q.20 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No improvement'.

Why did the teacher ask all four of you to stay back in class in the break?

Ans X" 1 asking four of you
7% 2. asked of four of you
?{ 3. ask you all four

1_( 4. No improvement

Question ID : 8161612952
Status : Answered

Chosen Option : 3

Q.21 Select the most appropriate words to fill in the blank in the given sentence.

| dislike people with ______ who say something and do something else.

Ans X" 1. many roles
#< 2. strange achievements
_‘J 3. double standards

2{ 4. multiple relations

Question ID : 8161612964
Status : Answered

Chosen Option : 3

Q.22 Select the most appropriate synonym of the given word.

TOLERANCE
Ans J 1. Endurance

x 2. Aggression
X 3. Oppression
x 4. Impatience

[
SSC CHSL 2020

A Comprehensive Course
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Q.23 Given below are four jumbled sentences. Select the option that gives their correct order. gradeup

A. However, in today's ever changing world, power looms are replacing the traditional
handloom textiles.

B. Handloom refers to the use of wooden frames of various kinds by skilled artisans to
weave fabric from natural fibres.

C. One of the most prominent among Indian handlooms are Banarasi textiles.

D. Banarasi textiles are made with gleaming gold threads and weaving techniques as old as
time.

Ans X" 1.CDAB

o 2.BCDA
/< 3.DBCA
75 4.BDAC

Question ID : 8161612949
Status : Answered
Chosen Option : 2

Q.24 Select the most appropriate meaning of the given idiom.

Not mince (your) words

Ans J 1. State your opinion clearly
75 2. Not to have clarity
?{ 3. Eat a lot clumsily

2{ 4. Say words that are confusing

Question ID : 8161612955
Status : Answered
Chosen Option: 1

Q.25 Select the most appropriate ANTONYM of the given word.

DISABLE
Ans X" 1 Refuse

Q_f 2. Permit

2{ 3. Disapprove

2{ 4. Disallow

Question ID : 8161612953
Status : Answered
Chosen Option: 2

Section : General Intelligence

SSC CHSL 2020

A Comprehensive Course START FREE TRIAL
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Q1 Ru =w Fa A Fewdt @ cow @ 92 7 T g B wue # & S wew b e & e
AT @t T A Tt ¥ e s 3 & o B §  Geehefee # T s oe e e
FAAT T A1 T H FFET FAVR e |

hYe

1. To faganef, star §

2. FT i, YT g

3. 3= Togamedf, e = §)
B

. T T, Jeer &

II. o derw, Fgmdf =4 #)
lll. F& Jate, Aar 1

1 e TS Il HEROT R B
X 2 Faer AT || HFHIOT FIAT B
X 3 Faer ToSHY | HFEOT FET
X 4 e s | AR 111 srgERer = E

Question ID : 8161612982

Status : Not Answered

Chosen Option : --

Q2 =3 fawed & wow #t, S weel & 9 @ FEY §, S FEY RU T A & st & 9
AT : et

MK Ty T RifRtEeR
v 2 Yot T ;. BT
X 3 ST ¢ ElfcHoR

A4 FHiT : Tee

SSC CHSL 2020

A Comprehensive Course
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Status : Answered

| Question ID : 8161612979

Chosen Option : 2
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Ans

T 7 T T ¥ W A W AE FES FA Rms g

Q3 m#mgﬁ_ﬁﬁsﬁww&ﬁtﬁmmﬁlﬁyﬂmmwtwﬁaﬂé

o
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Question ID : 8161612987
Status : Answered
Chosen Option : 2
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* Gafafta et aifdw ik it e F wEftva w1 9’5‘";‘”"
. e
II. SRHET
. SH=HER

IV. TEETeR

Ans SN L T, IV
v I v L
X, v,
Xal, 1, v

Question ID : 8161612972
Status : Answered
Chosen Option : 2

Q.5 =7 RweT & 907 FY SEe SE MEN-TEE ¥ T G § S 69 W SER-THE T Ugd SEN-THE
T F

DASH : FYUF :: BOARD : ?

ans of 1. DMCPF
X2 ZPCLZ
X3 ZQYTB
X + DQYBF

Question ID : 8161612975
Status : Answered
Chosen Option: 1

SSC CHSL 2020

A Comprehensive Course START FREE TRIAL
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Ans

° ar i 7 gt Pt Fger 2

v
X 2
18
X 4

16
15

14

$
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Question ID : 8161612985
Status : Answered
Chosen Option : 1

SSC CHSL 2020
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Q7 & 6 gy ¥ ot 3R a7 T W & TE A & FE GO o ;7 " H gradeup
/n %
.E‘ (]
Ans
ﬁwh
Ko z ‘%
LR
O
AN
A e
a
/6 ]
| O
e
o,
[} [ |
ve o4
|| O
F Y

Question ID : 8161612988
Status : Answered
Chosen Option : 4

Q8 ¥ fwoy F == v, wd FEmst F & 5 Fev ¥ S Ay RE v dE-gE st

& 7
8:36

Ans X110 : 42
X26:24
<34:8
V12 : 78

Question ID : 8161612967
Status : Answered
Chosen Option : 4

SSC CHSL 2020

A Comprehensive Course START FREE TRIAL
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O Trer # N A ¥ TTAEE #T I F 98T § FAT gEY 2
Ans x1ﬁT—|T

X2 TG

Vs oas

X+ ofy

T4
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Question ID : 8161612978
Status : Answered
Chosen Option : 3

Q.10 = FEoe & i ¥, GFE ¥ 97 B 7 el 9w aee § AR ow srmew R 59 A e
TF AL

Ans X 1. 651
v 2 421
X3 725
< 4 853

Question ID : 8161612971
Status : Answered
Chosen Option : 2

Q.11 T=fefaa & @ & o1 O #7 = Thar & FTU O 30T 3T Ffaor 12 « 3+ 6 s 8 = 4 = -4
F Fgfo FE?

Ans ( 1. i Spahay
KF 2. ey e
K— 3. kg Sy e

KF[L +: x: +: r

Question ID : 8161612966
Status : Answered
Chosen Option : 1

Q12 3Rt # 37 FUEE W OTIS w, B & T REer & NET W & F7FEE 79§ W W 4w
TOT &1 e

ab _a ba __ a ac

Ans X 1. cbaabcb
v 2 acaacba
/< 3. cabbacb
« 4 abccaba

Question ID : 8161612977
Status : Not Answered
Chosen Option : --

SSC CHSL 2020

A Comprehensive Course START FREE TRIAL
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Q13 3x gl &1 7O F, S AT G TS AFI-HWT F 3T TAS WA

o o]
oo (o]} (e]e] [o]e]

o o

x Do
AN

Ans

v 00

T4
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Question ID : 8161612984
Status : Answered
Chosen Option : 4

Q14 =x FEmges Gw o €, e & d9 el 7 G v w9 € HR v sEew g1 3§ e we
I & AT

Ans  of'1. 576 : 3375

X2 25 : 216
<316 : 125
< 4 289 : 5832

Question ID : 8161612969
Status : Answered
Chosen Option : 1

SSC CHSL 2020

A Comprehensive Course START FREE TRIAL
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Q.15 &t zufFest A, B 3R C & rw o e 2360 91 A F HH A o B A AR #% &, gradeup
C & YA 3l g=AwfEr A ®r ¥afT T &1 FOT F 978, 37 Wt F O aweT oA @ A {1
FOT § g B F O FA Fraedr oy ofr?

Ans X 1. F240
<2 ¥180
<330
v 7120

Question ID : 8161612965
Status : Answered
Chosen Option : 4

Q.16 mﬁrq@ﬁaﬁ@ﬁrﬁﬂﬁﬁaﬁaﬁmwhﬁmg%wmwuﬁmﬁw
T, 3T TEIT F IO F, FOHEN 2 @ 9T BaF F Fua B 97 g2ef

6 1

1|2 5 |3

Ans 1 1
V25
X3 4
X3

Question ID : 8161612983
Status : Answered
Chosen Option : 2

Q17 3r w-agg Re v #, TEd @ 99 50 F fRh 9w @99 ¢ HR o HEeE 1 3w HEeE
HER-THE F1 T4 F

ans 1. DHPFL
2 2 ABDGN
= BDHPF
v & CFLXV

Question ID : 8161612980
Status : Answered
Chosen Option : 2

Q.18 fah ff¥aa gz o1 &, 'DESIGN' #I 'OHJTFE' fr@m =rar &1 33 e s # ‘'STRONG' &I &4
foram =me=m?

Ans X 1. TUSPOH
X 2 HOPSVU
X 3 DOPSKJ
v 4 HOPSUT

Question ID : 8161612981

SSC CHSL 2020

A Comprehensive Course START FREE TRIAL
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Q19 37 47 3w 7 TTT T, I PR F A TE 3 ww o @ BT war @ gradeup
TEE, o, Fae

Ans

F

o 2

0 OO

Question ID : 8161612989
Status : Answered
Chosen Option : 4

Q.20 e @RS Fe smar &, SYNC & 4417 HT MINT Fr 2234 f3@m =iar §1 361 % &7 3 NOSE &
FoT g Seen?

Ans  of 1. 2024
< 2 1758
< 3 3419
X 4 5729

Question ID : 8161612974
Status : Answered
Chosen Option : 3

Q21 37 gear & TF wt, S FERRT 4@ § weF-REd (?) F T W 3 T 8
589, 572, 557, 544, 533, ?
Ans of 1. 524
X 2 523
< 3. 525
< 4 522

Question ID : 8161612968
Status : Answered
Chosen Option : 1

i @y SSCCHSL2020
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Q22 37 g F 9T W, A ARl Aof F wea-fET (7) F T ) a7 g ¥ gradeup
5, 9, 10,28, 17,.65; ?
ans K1 32
<2 93
<378
v 26

Question ID : 8161612970
Status : Answered
Chosen Option : 4

Q.23 mritrer R PR T & TR ¥, 9 v v R @ deta
Ans K—_I. g_l?ha.

v 2 st

X 3. ForEReIeed

X 4 Safaa=

Question ID : 8161612976
Status : Answered
Chosen Option : 2
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0% 3q faweT # 9ua w, owd & 7 ey saERa # gradeup

Ans

Question ID : 8161612986
Status : Answered
Chosen Option: 1

Q.25 R @9 Fe oo &, BOARD % CMDNI forar ser 1 38 % &1 & WHITE #1 &7
STTET?

Ans X1 VFJQB
v 2. XFLPJ
<3 XUMQZ
< 4 VJFPZ

Question ID : 8161612973
Status : Answered
Chosen Option : 2

Section : Quantitative Aptitude(Basic Arithmetic Skill)

SSC CHSL 2020
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Q.1 Fr R v o1% & a7 V, &7 VI, e VI 3T & VI F s 3l wefeat # g ar g gmdeUp
IAT §| WE FITTS FHY T BT 0 997 F: Iow/ &

66 | 65
64
62
62 61
50
60 59 59
58
58 57
56
54
52
RETT v

HETT v HET Vit RET v
= FEF SFERRAT

e FaT &, 5H RO Fa B g # wES # v F gf wew I wgEe 8
Ans  of 1. gmaTT VIII

K2 FETV

< 3. & VI

X 4 e VI

Question ID : 8161613012
Status : Answered
Chosen Option : 1

Q2 wF frer &1 gE= # 71,100 MRP a6l v avg & ge-aee Y 3979 % RN Hew o &= T @
¥ 59 T8 W & e T ge H afdes # o

as o1 11%

<2 10%
<3 12%
<4 9%
Question ID : 8161612994
Status : Answered
Chosen Option : 1
G EEREF T3 4:5F T F ¢ T R |

K HftEET R
X 2 mﬂTﬁﬁiGr
v o g FIoT R

X 4+ wEGAETE e

Question ID : 8161613001
Status : Answered
Chosen Option : 2
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Ans

X 1. 60
X2 30
X'3.120
v 4 90

Q.4 Rt 7 F g T oNer F 3 1 5 & WA H §| N o el H WEAw 150 @, o wHE el v
Te e 82

T4

gradeup

Question ID : 8161612997
Status : Answered
Chosen Option: 4

Ans

v 1. 1109
< 2 986
<'3.1209
<+ 876

Q5 2r FEamat @1 AT 47 3R 3AF AU 550 1 3AF T F AT A AfFw

Question ID : 8161613004
Status : Answered
Chosen Option : 1

Ans

Q.6 =% 2015, 2016, 2017, 2018 & UF =T HT

< 1.%768
< 2 T560
< 3. 7865
v 4 7600

g & stwa R 16300 &, st a9 2016, 2017,
2018, 2019 # == sitma fashr 718450 &1 IfE 2019 # feshr 79200 2 &, of 2015 & foraem fshr

SAE

Question ID : 8161612993

Not Attempted and
Marked For Review

Chosen Option : -

Status:

Ans

v 84
< 2 56
<3 21
<4 44

Q7 us smmm F wie, sEE waE B GR T §| I TS FT ST 1764 @, A swer S e
G

Question ID : 8161612992
Status : Answered
Chosen Option : 1
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Q.8 & wEmt & & 57 3R 3 3R 3 T A a7 3R 999 §1 T A F A = W A gradeup
At of 1. 63

<2 36

<318

< 4 81

Question ID : 8161613005
Status : Not Answered
Chosen Option : --

Q9 40 i # ve fww gt 79 == F BT ™ FW 64 kmh #F 9w & o W § 3T 36 7 g8 30
e # 99 F @, o 3HH T e g afee?

Ans X 1. 84.78 km/h
X 2. 54 km/h
v 85.33 km/h
< 4 74.65 km/h

Question ID : 8161612991
Status : Answered
Chosen Option: 1

Q10 ey aut 3y =@t &, 16% =1f¥s ETUROT =aT=r € a7 A 224 $ v ART TEHT 56 @
FATAT?

M W8 as 4wt
X2 7 3§ 8 AT
X3 6 3§ 5 AEAT
X4 6 a¥ 11 Ag=T

Question ID : 8161612998
Status : Answered
Chosen Option : 1

" IR tand + cotd = 6 & @ tan6 + cot?26 FTHAH AT FI|
Ans  of 1. 34

<2 36

<3 24

<4 26

Question ID : 8161613008
Status : Answered
Chosen Option : 1

SSC CHSL 2020

A Comprehensive Course START FREE TRIAL
(English | f&é)
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Ans

X 1.39.34%
X 2 59.67%
V2 43.75%
X 4 67.45%

Q.12 TF O A T FE A - F sEd o F IOn A REm R F e wY

T4

gradeup

Question ID : 8161612995
Status : Answered
Chosen Option: 2

Q.13

Ans

sin235 + sin? 55 &7 AT AT HL
1

Ko =

X220

X3 -1
v

Question ID : 8161613010
Status : Answered
Chosen Option : 4

Ans

AT §| TME FH HegTS H AT fZT AT goT F: Few S

65
62
62 61
80
60 59 59
58
58 57
56
54
52

RETT v TFET v TREIT v TRETT vin
o FEH swEfEaT

e FET F, ol B ReaE T 82
<1 & VI

&< 2 & VI

< 3 &aEr VI

v RV

Q.14 F=r faw o717 aw &, wam V, Fem VI, @ VI 33T weT Vil F aset st wsfEat $r 9w #r gt

Question ID : 8161613011
Status : Answered
Chosen Option : 4
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Q.15 A v o 7 12 R & 3k B =6 w197 1 16 R & 7 wwaT 1 39K 57 A 7 4 Rt 7w @ gradeup

Ty HTH 5T, I FH o A 9T 99 I Sreem?
Ans _

Ko

X2

X3

E|m ;|@ | wy ol ~J

v

Question ID : 8161612990
Status : Answered
Chosen Option : 4

016 3z S ¥ S 5 I Hr TET FAT RN, S 91 W Ry 22
Ans  of 110010

#< 210283
# 310192
#< 410101
Question ID : 8161613006
Status : Answered
Chosen Option: 1
@7 fE sinx = g £, ar Cos 3x =T AT AT FI|
Ans 1. 0.5678
v 2 05797
# 3 0.6735
< 4 0.8765
Question ID : 8161613009
Status : Not Answered
Chosen Option : --
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a—==F . 4

a8 g x =2 + /38, ar x* —8x3 + 16x% & AT AT H1l gradeup
as X1

X2

K32

v

Question ID : 8161613003
Status : Answered
Chosen Option : 4

Q19 & a% aefy &, BD, AC ¥ F&aq ¥, o #10T AEB # A9 7 gei?

Question ID : 8161613002
Status : Answered
Chosen Option: 2

Q.20 ow mEr F T3,060 F F=A E AE GHEEER F 15% FT EAT §, A 20% AH FA F o 57 BE A
o E Hp W a=e wige?

Ans 1. 4,650
v 2 34,320
X 3 3,440
X 4 33,600

Question ID : 8161612996
Status : Answered
Chosen Option : 2
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Q.21 =y v a1 7w & Faw V, @ VI, FaT VI 3T &a VI & wer st wefEat #r g wr g
IAT F| A H OIS & AT T 70 927 @ I &)

62

[13 65
84
(3 61
60
&0 59 59
58
58 57
56
54
52
hE&TT v

HETT v HET i & v
= WEF SRR

ol st #, et H sww wEw = 9
Ans X-I. 57

v 2 59

< 3 58

< 4 60

T4

gradeup

Question ID : 8161613013
Status : Answered
Chosen Option : 2

Q.22 & 1% sy #, O 579 = 7 §1 TR FOT PRQ = 64° §, & HOT OPQ F A Fraar gem?

< 2. 320
X 3. 60°
v 26°

Question ID : 8161612999
Status : Answered
Chosen Option : 4
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Q.23 =y fZw 91T 7w & Farw Vv, @ VI, FaT VI T @ VI & wser st wefeat $r g wr g
I | WME F TS FL AT BT 0 727 F:oFeaw &)

66 65
64
62
62 61
80
&0 59 59
58
58 57
56
54
52
hRETT v

HETT VI RETT Vi RETT Vi
=FEH swEEEaT

TR A g &, TR # 3 R wRE & 3 g (@ e T S R )
Ans X 1. 4.75%

v 2 367%

X 3. 5.67%

<4 6.12%

T4

gradeup

Question ID : 8161613014
Status : Answered
Chosen Option : 2

Q24 =z y=rTE T A W, SEE § 20 9T W, 9% 39 geRA & 2925 I & I g S g
Ans X145

X2 35

V'3 65

X 4. 55

Question ID : 8161613007
Status : Answered
Chosen Option: 3

Q25 33 gea w1 WA AT W, o @ F 3em fig @, 3) Ak (2, 1) &
A ol x2+y?—2x—4y=5h

K2 x2+y?—6x+2y=3

X3 x2+y2—2x—4y=3

Kax2+y?—2x+4y=5

Question ID : 8161613000
Status : Answered
Chosen Option : 4
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AeaT S ______ eae gl
Ans x1aﬂga
X 2.wd
X 3.9
4. mwed

Q.1 Sttt 78T &t 20 STt 2020 H WRATT ST UTET (MTSTUT) & Sieget & =9 | g7 747 AT 98

T4

gradeup

Question ID : 8161613019
Status : Not Answered
Chosen Option : --

Ans X 1 a1
o 2 Faq=
/X 3. afrar

x 4. 7= (Maanch)

Q.2 fasi¥ & uRuRe 9iF 7= (bamboo dance) @Y Z/T gl STTET 82

Question ID : 8161613018
Status : Not Answered
Chosen Option : --

A% 8 wenedt 82

Ans

x 1. 89 981 (Main Memory)

x 2. urHt AERY (Primary Memory)
\f-’ 3. a1 AHRT (Cache Memory)

K 4. Ydhe AERY (Secondary Memory)

Q.4
Ans

17 Separn & gt fhaeit afgen sefiear g+t &7
W 178
75 2.70
X 3.72
X 4.76

Q.3 fFrafaf@a d @ #ia-ar aga & grE-wis aren Gfteisae: A9 8, e CPU (. 9.g) fi afa

Question ID : 8161613016
Status : Answered
Chosen Option : 2

Question ID : 8161613020
Status : Answered
Chosen Option : 1
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RED ¥

Q.5 ¥RA & A=fafad § @ #9-3 o § ulRig @rfiFREor sierum SRR fa 22 gradeup
Ans X1 AR

X 27

/X 3. ag

of 4 7 R

Question ID : 8161613017
Status : Answered
Chosen Option : 4

Q.6 TS & A R af WRA A a1reR” 2RoT Y oft?
Ans X1 1952

W 21959
75 3.1962
/X 4.1957

Question ID : 8161613026
Status : Not Answered
Chosen Option : --

Q.7 SragER 2019 # @15e UeTsae SAvft (48 formm) # fora afgen vRda gadharst 7 gendfig afgen
sy gacharsht Sfm=fAg & wsra sfar ar?

Ans J1qq;|—,ﬁ
X 2. umeh At
X 3. ST aR
75 4. hafer st

Question ID : 8161613021
Status : Not Answered
Chosen Option : --

Q.8 fA=fafaa d @ ford af 2019 & "wTuTE TReAT & T AT g it uRfY iR fafrear &
3r=ayur g fohg ufaremeneft @t & farw (for an influential work that with linguistic ingenuity

has explored the periphery and the specificity of human experience)" Fieier @Tfesa qRepR &
iR foRar mar an?

Ans x 1. 3relt argHe 3l
/X 2. it et
o 3 dizisH
< 4. Pde A

Question ID : 8161613033
Status : Answered
Chosen Option : 2
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Q9 WrRd,_____FIFRAR™adI
Ans X 1. g HeATg Y

X 2. e T

75 3. o

(4. e 3@T

T4

gradeup

Question ID : 8161613029
Status : Answered
Chosen Option : 4

Q.10 ureh ST (Palk Strait) em 82
Ans X' 1 7 ufm & i ok wRa & dfra & e @)

W 2. 7 Te St e &, St et SR sficieht et SrerT el 21
7 3. 78 gaR 9Rd 3R < & e B i v @
/X 4. g TR 3R UTE & e i e W 81

Question ID : 8161613030
Status : Answered
Chosen Option : 2

Q.11 F=fafaa d @ g 221 3 ga@ sifdes ar fiwr fag) @a (FIFA World Cup) Sfiar &2
Ans "'1aﬁﬁ;{

X 2w

X 3. R (o i )

X 4.t

Question ID : 8161613037
Status : Answered
Chosen Option : 2

Q.12 <IshaTd 1 g Qe 20id &1 gidT 81 9 TR Bl ______<hgl STl gl
Ans 1. fet (gen)

K 2.RR

of 3. si@

X 4E

Question ID : 8161613025
Status : Answered
Chosen Option : 3
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Q.13 ugelt yaadfa gisHT o gE 382 YR A Ff¥ Fit fRAfa d gur wwen un1 ag gten fore adf 3=
R

Ans  of 1 1057
75 2.1949
/X 3.1952
75 4.1953

T4

gradeup

Question ID : 8161613023
Status : Answered
Chosen Option : 1

Q.14 = Ry 7T FHu=t d | 9 91 HY= g @?
Ans X 1. SicheT STemed, TihET Y T R ehell &1
25 2. g, ASTGAT Y ¥ aR Fahell 81
/X 3. Swrgufy, et 2reu o e aRee &Y it g Fehar 21

of 4. e, Rt rsa &Y R g e o o GehaT 21

Question ID : 8161613035
Status : Answered
Chosen Option : 1

Q.15 f=faf@a # 9 fFaa s At-=manefieit f G dis & Aqa frar, = fRsar (privacy) &
AR ! Hdiferen sifderR wifta farar ur?

Ans  of 1 Giuw @
7< 2. Gua fasn
/X 3. wa whva

X 4.8 g9 aER

Question ID : 8161613036
Status : Not Answered
Chosen Option : --

Q.16 sfig wich @t I qRERR TS ug foha foam mam ar?

Ans X 1. farer argeRTSt
75 2. @ s

of 3. R arre
/X 4. wReE dgaa

Question ID : 8161613039
Status : Answered
Chosen Option: 1
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Q.17 aré STgTt &1 snfaeR fra R an? gradeup

Ans X1 ared iR g R
o 2. SRR ok R wse

/X 3. srceTeR uTEH e
/X 4. 7% urER SR T wfT

Question ID : 8161613024
Status : Answered
Chosen Option: 2

Q.18 SiTeRt 2020 ek TAE-20 iR &l # oot ik o1 Ta oifde aectarsl sitad @A &1
TiRa fFafaf@a 7 @ forad ura g2

Ans X1 fone et
75 2. A <t
/X 3. s dgem
of 4. RRre weeh

Question ID : 8161613038
Status : Answered
Chosen Option : 4

Q.19 uflg A anht g7 i 7 fha Ture & AH=He & ERE YR Y g Y A2
Ans X 1. e mum

X 2 T

/X 3. i

o 4 wdad

Question ID : 8161613031
Status : Answered
Chosen Option : 4

Q.20 &=thed I R & WIRA T TIA BIET hg; A T2 HI-TT &2
Ans X 1z iR &a

2 weg

/X 3. R

/X 4. g iR R

Question ID : 8161613027
Status : Answered
Chosen Option: 1
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Q.21 F=fafEa # 9 fFa dafe ag ot "Afds smae 9e@ & e & g = e d adf
2019 & A& REHPR T T R mam ur?

Ans X 1 e e, Red §eve 3R e seide
X 2. frw o, IR A ok 3 ARy
25 3. thor wier, - gider ok & R
o 4. it ot e, T R e ok s R

T4

gradeup

Question ID : 8161613034

Status : Answered

Chosen Option : 4

Q.22 7R 2019 Tk T SRR} &h TR, R & a-siid SI9IRugl Y et HeEan o 8?
Ans 51 564

of 2551
/X 3.543
75 4.547

Question ID : 8161613028

Status : Not Answered

Chosen Option : --

Q.23 fAAfafEa & @ w14 g Rufsiea t@if@eFA & va agaygef e 3, [Sgiw eoa
Teafal & a1y SRt A 39 e @t sieT R ur?

Ans o 1. srrthTes Seor @
X 2. girm
/X 3. s el
/X 4. <g Rig wener

Question ID : 8161613032

Status : Answered

Chosen Option : 1

Q.24 fA=faf@a d @ fraw seaei@e wefen gRar (da= &=) & 919 U Ay o9 gian g, sl SO R
hTH hdT 8?7

Ans X 1. dmata
X 2. 3@y
X 3. @

o 4 it e

Question ID : 8161613015

Status : Answered

Chosen Option : 1
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Q.25 &g WFR & G da= & = & ol e areft WRe T Rstef den i wamo= e gg oi? gradeup
Ans X" 1.1 3rfief 1950

75 2.1 31 1948

75 3.1 311 1945

of 4. 130@1935

Question ID : 8161613022
Status : Answered
Chosen Option : 4
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